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1. Show that (2x + 1) isa factor of 2 + 7x® —x -2

5. The remainder when the polynomial z* is divided by » +a s 16,
Find the value of &




CEM — Yr 12 — 3U Polynomials — Review Booklet — Paper 3

3. A monic polynommial P(x) of degree 4 15 Temowwn 1o have exactly two zeros at
2 and —2. It s also known that P(x) s an even function.

further, when x =3 tha value of P(x) is 55. Determine the polynomial
function P{x).
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4. The polynomials 3x* ~2+1 and ax{x~1)x+ Dbkl =1+ e+ d are
equal for 4 values of x.
il
Determine the values of a, b, ¢ and .
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5. The polynomial Fix) = b+ b lasazermat x =2 When Plx)is
divided by x~ 1, the remainder is 2,
Find the valoe of 0 and &

6. Find the quotient and remainder when

. xé—ﬁxgé-xzu,’jxﬂiﬂ?
ia di“é’i&‘iﬁ-él by
Ftz=1
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7. (xe=2)is o factor of the polynomial
Pl = 28 + x4
Find a.

8. Congider The function T3} = £ =ln (x+ 1) has ooe root between 05 and 1,
(i  Show the root lies botwesn 0-8 and (9.

(i)  Heneouss the halving-the-interval method to find the value of the root, corneet
to one decimal place .
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9. 1t is known that two of the roots of the equation 2% 4 3% <ke+ 6 =0 are
reciprocals of each other. Find the valoe of £ )
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10.

The polynomial P(x)=x"=6x" + ke +14 has azeroat x=—2,
i Find the value of &

i, Express P(x) as a product of linear factors.

{ii. Ty sketehing the graph of ¥ = P(x), henoe, or otherwise, solve Px) <
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